Joooooooooobogoon

goon

20090 80 160

gbooooobooboobooboobobobobobobobobobobonon
gboobooboooboobobooooobooooboooo
ooooogoo

Epc(r) = [Epcr(v), Epce(r), Epcy(r)]
Epce(r) =000 Epcy(r)=00000

T

(V2EDC(Q)°]%i—:(grwﬂdm(EDC@)»).T;T
:_}2E5640_+<i>5E254ﬂ4_5E§gAn

ooogooo
oooobOooooooboooooobooog

Ky = ko %%DD

?Epcr(r) _ (Kf T <(E1 - f:gcqﬂ(r))z) + (V2Epo(r)) e |i|)

ot T\ 3 Vor
aEDCT@)_i/iaQEDCT@) OEpcr(r) | ,,
a Jo o g [¢=0)

¢ 8EDCT (1")

Epc,(r) =
DC() 0 ot

dt + Epcr(r) | (t=0)
00000040 Ar000000000000000000
0000000 Epe(r) | (¢=0)00000
000000000000 0000000000000000000000
0AEODODODOOODOOOODOOOOODOO
Emex:00000
r:000000000000
r:0 00000000000
ren:00000000000000000O



0000000000

e 2
AE = AFE,,..exp ((T(sgcent))

_ Tout + Tin
Tcent = 2

— 000000000000 ooooooooo

——[0O0animation0 0 000 Animation 0000000000000 Start O
oooooooooao

0000000000000 D000n0ooonon

Teene D00 0000D000D0O0DOO0DOOODOOODOO

00000D00oo0ooooooooonoooog

00000000 1.14%10¥[H2]00000000

0000000000000 00000000o0o0oooooon

T ="Teen: 4O 00O

K12 g (E1 — EDCr(r))2
1 exp | —
3 V2 202

00000000000000
Epcmaer:0 0000

f,:000

0o

T

v ]

) (5> (VEpc(r)) e ) |

EDCr(r) = EDcmaICOS(Q’JTfUt) + EDCr(r) | (t = 0)

o000
T = Teent U 0

- 6 62EDCT (I‘)
o= ~ 9Epc < o2 >

o ) g
27 o? o2

=1.20 % 10 [H 2]

boboboboboobooobooboobobobobobooooobooon
1.14x10%4[H2) 00 0000000000000 00000000000



